SONY

SU-14 SUPPORT STAND ASSEMBLY PROCEDURE

(please refer to figure-page 2)

STEP 1 Ensure that you have received all items. (see
checklist below.) : : ‘

the

right and

left vertical support assemblies

STEP 2 Attach each of %§§<:)cross member-base supports to

using

screw m4x8 phillips. Ensure that the cross

members are installed with the tapped hole facing
forward as shown in figure-page 2.

STEP 3 Attach the
m4x8 phillips as shown.

cover plateQbaée support using(@)screw

STEP 4 After placing APR-5000 series unit in stand, install
(4)assy cap,base support as shown.

PARTS CHECKLIST

QTY.

(16)
(1)
(2)
(2)
(1)
(1)

REF.

@O@EHOEO L

DESCRIPTION

screw m4X8 phillips

cover plate-base support
cross member—base support
assy cap,base support

right vertical support assy

left vertical support assy

Packed by




Exlé

PART #

REF. #

OIOIOIOIOIC.

T-9453-466~-1
T-9452-205~-
T-9452-206-
T-9482-328-
N/A
N/A

DESCRIPTION
SCREW m4x8 phillips
cover plate-base support
cross member-base support
assy cap, base support
right vertical support assy

left vertical support assy




	SU-14 stand assembly_01
	SU-14 stand assembly_02

